Perform the indicated operation and express your answer in factored form.
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Solution

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

X’y +2xp+1

m’> —2mp + p°

X =y

8x’ —27y°

8x’ +27y°

m* +2mn+n’+2(m+n)+1
(x+2) +2(x+2)+1
n2(2m—1)—2n(2m—1)+(2m—1)
Xyt )

a'® —p'e

x—4Jx -5

e —e" -6
5x2+10xy+5)3—k20(x+¢y)—105
X'y’ +8

x3n+y3n

X" —x" =2

12x* +2xy—30y°

1——

2 5x
+ 2
x+3 x -9
4 2

x+3 x-3

3a’b—-9ab®
a —7a*b+12ab’
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Perform the indicated operation and express your answer in factored form.
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Solution

21.

22.

23.

24.

25.

26.

27.

28.

20.

30.

31.

32.

(5x-7)
50x* —98

x2+(a+b)x+ab

x*+(a+c)x+ac

xt=2x7y" +

x*+2xy+ )

3x N X455  2x7+xp
4y—4x 4x° -4y 2xyp+2y°

a +1
x—2
3

x’ -4

2
1+ [2x —Lj
8x

+1

x+1 N x—1 N 2
X +x+1l xP=x+1 x*+xr+1
6 3 1
x*+2x=15 x-3
1

——+1
x+5

x—4 3x—5 5% +9x+14
2x—-1 x+2  2x*+3x-2

1
N

NS

x>+ xy+y°

2.,
3

x3_y3
4x>-9y°

e (x2 + 1) +2xe”
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Perform the indicated operation and express your answer in factored form. Page 3 of 3

Problem Solution

e’ (x2 + 1) —2xe"
(x2 +l)2

(% +1) (=2x) ~(1-2*)(2)(x* +1) (2x)

(xz +1)4

33.

34,
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